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MI8&t (20114)
<8.1~8.24>

8.2 9 =30°, P=30N, W=240N
p, = 0.35, p, = 0.25

=0; N - Wecosf - P sind =0
= N = W cosf + P sinf

= (240 N) co0s30° + (30 N) sin30° = 222.84 N
F = u, N = (0.35) (222.84 N) = 78.00 N

: F~

NXF, =05 F+ Wsind - P cosf =0 /N
= F=- Wsing + P cosf
= —(240 N) sin30° + (30 N) co0s30° = -94.019 N

FI > By = B7Fs = B339 ohy.

F<O = waewg g - vndd e
5

<>
2A2XF, =0; N - Wcosf - P sind =0
= N = W cosf + P sind
= (240 N) c0s30° + (30 N) sin30° = 222.84 N

Fo.. = p, N =1(0.35 (222.84 N) = 78.00 N

NYF, =05 -F+ Wsinf - P cosf =0
= F = Wsinf - P cos#f
= (240 N) sin30° - (30 N) co0s30° = 94.019 N

Pl > Fo. = #7Fs =  HI4H ofd
F>0 = ¢ 9dsts = vngA gk
F =, N =(0.25 (222.84 N) = 55.71 N = F = 55.7 N ~30°



816 W =480 N, pu, =030, d=06m
(@ Fy = p, Ny, Fy = p, Ny p w
1SF, =0 7> l
Ny+ Ny - W=20
= N, + Ny=W h
—>3F, =0
P-F,-Fy;=0 . Fy
Fa~ 4 A
= P=Fy+ Fp=p, Ny *p,Np d
= py (Vg + Np) = p, W Na Ny
= (0.30) (480 N) = 144 N
P = 1440 N —
(b) oA=&+ Ny, =0, F, =0
=M, = 0
he-Low=o
2
> p-4 7 00n fi2§=1m hy.. = 1.000 m

8.19 us, = 0.40, p, = 0.30, P = 3000 N
Fy = Ny By = N

ABolA =M, =0 ;
(0.150 m) P + (0.150 m) g, IV,
- (0.450 m) N, = 0

1 1
e (3000 N) 5— o=

= 1111.11 N
= F, = (0.30)(1111.11 N) = 333.33 N

DEdA =M, =0 ;
-(0.150 m) P + (0.150 m) p, N, + (0.450 m) N, = 0

1 1
34+ (3000 N) 3 +0.30

= 909.09 N
= F, = (0.30)(909.09 N) = 272.727 N

= N, =P

=oA =M, =0 ; Nl_,l
(0.250 m) (F, + F,) - M = 0
= M =(0.250 m) [(333.33 N) + (272.73 N)]
= 151.5 Nm



